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General Comments

Changes were made to the 2023 papers to reflect the removal of the regulatory requirement to test
vocabulary outside of the published vocabulary list.

There was a very positive response to this year’s Chinese Writing paper, with a larger entry than last
year. The paper differentiated very well, in that students were able to score marks in all questions
in the paper. The vast majority of students had been entered appropriately for this tier. The quality
of work seen in the overlap questions was of a higher standard than at Foundation tier.

The standard of responses was varied, ranging from short responses with simple sentences and
occasional opinions through to detailed and generally accurate responses using a variety of
vocabulary, structures and time frames, with opinions and justifications where appropriate.
Compared to previous years, the majority of students gave answers of an appropriate length, which
avoided unnecessary errors that might have occurred in overly extended responses.

Where students failed to score marks it was generally due to inaccuracies that caused a delay in
communicating the message. The usual reasons for this were either incorrect word order or
inaccurate character writing leading to ambiguity. Unnecessarily long responses created the
potential for increased inaccuracy. Another barrier to achievement was the omission or
misinterpretation of the bullet points in Questions 1 and 2. Looking forward, students need to be
reminded again to double check that they have covered the content fully.

Question 1

For this question, there are 10 marks for Content and 6 marks for Quality of Language. Students
are required to write approximately 75 characters in total about four different bullet points. All bullet
points must be covered, but there is no need for equal coverage of each bullet point. The standard
of work at this tier was generally very good, with many students able to provide extended responses
that demonstrated their ability to develop ideas, express opinions and refer to different time frames.

Content

The criteria for assessment focus on four elements: coverage of the bullet points, development of
ideas, clarity of communication and expression of opinions. The vast majority of students wrote
more than 75 characters, which enabled them to give a lot of information, fulfilling the higher bands
for this category. Students need to be reminded that coverage of bullet points is key. Occasionally
a bullet point appeared to have been misunderstood, which meant that the student could not be
awarded four marks or more for Content. In some cases, it was very obvious that the students were
native speakers, who had excellent command of the language. However, these students sometimes
neglected to fulfil the requirements of the task, thereby failing to gain marks. In order to score 7
marks or more for Content, information related to all four bullet points must be conveyed. Lapses in
accuracy which have a bearing on communication could also contribute to a lower mark for Content.

Question 01.1

This question was less popular than Question 01.2. This might have been because the majority of
students were under the impression that the vocabulary for this topic would be challenging. In fact,
most students who chose this question performed very well. The first two bullet points were
answered best. Chinese New Year (% 71/H [E#4) and birthdays (4= H) were popular choices for
celebrations. Some brief responses to bullet point three (their views about the celebration) were

30f9



REPORT ON THE EXAMINATION — GCSE CHINESE - 8673 — JUNE 2023

seen, such as FT1R & or 4 H1R 47 It, without providing more detailed information. Students

would have achieved higher marks for bullet point four if they had mentioned their birthday or
provided clear information that the plan was for their birthday next year.

Question 01.2

A significantly higher number of students chose to answer this question, probably because study/life
at school is a familiar topic. Again, strong performances were seen with lots of detailed and extended
pieces of writing. It was obvious that the majority of students were very confident in handling bullet
points two and three as they were responded to best. Lots of students effectively and clearly
expressed their opinions about a teacher or a lesson with lots of detail. Some students found bullet
point one challenging; more able candiates were able to use the & structure with an appropriate
verb-adjective (R or fRiL). Additionally, students who included the ‘from...to..." structure,
e.g. NFFEKF|2=k HE 4%, to indicate the distance between school and home were also
credited with the content mark for this bullet point. It was regrettable to see a few students struggling
with this bullet point and therefore omitting it altogether. Bullet point four was handled well by most
students.

Quality of language

The key features of the criteria for assessment here are variety of language, attempts at complexity,
time frames and accuracy. In relation to the first three elements, the following were seen: successful
references to two or three time frames and successful use of complex structures including a range
of connectives, e.qg. BEAR.. AR, AL H..., BUALFTRL, S S BR T L BUAbLLL, RO,
modified verb-adjectives, use of subordinate clauses such as 13, ¥k, comparision Lt and
superlatives fx. A range of verb-adjectives, such as &4, FH, &8, ift, &= and {I-& were
used to describe a teacher or a lesson. Some more able students used /54, H4ER or & T-#Hh
F&, which was good to see. Occasionally, the verb-adjectives were not used correctly, for instance,
A H was used to describe a teacher.

Most students this year were fully aware of the need to include three time frames in their answers.
For example, in question 01.2, most students used present-tense time words, i.e. &k, &KHE I
etc. to reflect the present time frame of bullet point one. For past time events, almost all students
successfully used | after the relevant verb and most students successfully used time expressions,
such as RER, FAEM, EANH, &alr, E—75EE, etc. Similarly, there were lots of good examples of
future time frames, with almost all students successfully using auxiliary verbs such as #8/Z /4] 5.
before the relevant verb. Whilst it was pleasing to see these positive responses, the use of incorrect
characters sometimes affected the clarity of the message. For example, quite a lot of students wrote
WE4E, T4, F—M4E, B4, %4 instead of Bi4E. Other common errors were the confusing use of
incorrect time phrases with auxiliary verbs and/or the particle 1, which caused ambiguities in
comprehension, e.g. Z:E4E H, RITH 1L E. Sentences like HERE T HAME or 2 THEE were
also frequently seen.

Advice to students

o Refer to all bullet points.
Tick off the bullet points in the question rubric once they have been covered.

¢ |dentify which bullet points target the different time frames and check that your time word
and verb formation are accurate.

4 of 9



REPORT ON THE EXAMINATION — GCSE CHINESE - 8673 — JUNE 2023

¢ Make sure you include opinions as required by the task.
e Write in pinyin rather than leave a blank space if you are unsure of how to write a particular
character.

Question 2

For this question, there are 15 marks for Content, 12 marks for Range of Language and 5 marks for
Accuracy. Students write approximately 125 characters in total, about two different bullet points.
Both bullet points must be covered, but there is no need for equal coverage of each. More students
chose Question 02.2 than Question 02.1. The range of the responses varied from a fully fluent
response to the bullet points using language that was largely accurate and varied, to content that
was not always relevant, often repetitive, and not always easily understood. Students need to be
reminded that, in order to avoid losing marks, they should tailor their knowledge to suit the demands
of the tasks, rather than reproduce pre-learnt language, which might not be totally relevant.

Content

The criteria for assessment focus on four elements: relevance and detail (implicit in this is coverage
of both bullet points), amount of information conveyed, clarity of communication and expression and
justification of opinions. A large number of students wrote more than 125 characters and a number
of students wrote greatly in excess of the required wordage. Unfortunately, for some of these
students, this led to the inclusion of a great deal of irrelevant information and also compounded the
inaccuracies in their language, which had a detrimental effect on their mark for Communication as
well as on the mark for Language.

As mentioned above, more students chose to answer Question 02.2, perhaps because jobs is a
more familiar topic for most students than environment. It was clear that some students had
difficulties with the vocabulary item #H (part-time), and were therefore not able to adequately refer
to bullet point one in the question. Itis important that students learn the skill of paraphrasing specific
items of vocabulary when facing unfamiliar words in the future.

Question 02.1

The performance on this question was better than that on Question 02.2, despite the fact that few
students chose it. Many students successfully addressed bullet point one, discussing local
environmental issues. Some excellent responses were seen, e.qg. 1R 2233353, 1] B ] K AR B
and AATHE#ELYIBI%. A number of students wrote about H1RZ /KL% and AEATF. It
appeared that phrases such as Fff: [ /7 posed a challenge for some students. Whilst students
handled bullet point one comfortably, a few students found bullet point two tricky. It appears that
these students lacked the vocabulary and structures needed to express their ideas. Nonetheless,

most students were still able to make suggestions such as £ £, I 4, A, Fkt and #6573,
using their knowledge to produce a more creative response.

Question 02.2

As mentioned above, this question was more popular amongst students. It was good to see that
students were confident in responding to this topic and a lot of good responses were seen. The
writing ranged from fully relevant with lots of clear detail to writing that was sometimes irrelevant or
where communication broke down. For bullet point one, most students were able to write about the
pros and/or cons of pupils having a part-time job, justifying their opinions succcesfully, e.g. 5 %% A LA
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SEZRVE, R AR A FH/E L, (EEER TAEnT kRIS 2250, v E 2 B A, FEIRBA
] /E Y and 2% >] B E 3. However, quite a lot of students did not know how to write 38X or 3T

so left gaps. It is essential that students equip themselves with the skill of adapting alternative
vocabulary or paraphasing to express the key concepts of a task.

Range of language

The key features of the criteria for assessment here are variety of language and a confident ability
to produce complex sentences. Many students demonstrated the ability to use a good range of

complex sentences, often successfully. BOREL..., Bk 7 (BAAM).. 38, .. IR, anf... 5t... and the co-

i o—

verbs Xf and 47 were all seen. A few students used sequencing (35—, %% ) to produce well-
structured and clear arguments. Even weaker students were able to employ common linking
words/connectives, such as [A°4...FTLL...and BE2A...{HJ&... However, there was a lack of variation
in the use of appropriate vocabulary, particularly when it came to verb-adjectives. Many students
relied heavily on % and A & 2.

In both Questions 1 and 2, ambiguous communication was commonly caused by a lack of the key
vocabulary needed. For example, in Question 1 many students were unable to use the expression

Fi2 N, instead employing incorrect terms such as /M, /MM AN NMEN or A% N, Some students

managed to use alternative expressions which were closer in meaning to the term ‘young people’,
such as %4 and &A1, which were accepted.

Accuracy

Lots of excellent work was seen during marking, where sentences were error-free even when
attempting more complex structures. Generally, the use of time words and verb formation were
secure. The majority of students were able to produce work worthy of 3 marks and above. Common
errors included word order, incorrect time expressions, inappropriate use of conjunctions and verb-
adjectives and character writing errors. Where students scored 2 marks and below, it normally
reflected poor performance across all aspects of the criteria, with very limited and poor writing. It is
also worth noting that the criteria refer to style and register. This was not generally an issue in the
work seen.

Advice to students

e Read the bullet points and the scene-setting carefully, ensuring you know exactly what is
required in the response.
Ensure that what you write relates in some way to the bullet points.

e Try not to say things that are overly difficult or for which you do not know the vocabulary. It
is better to be simple and clear than complex and unclear.

e \When you give an opinion, make sure you justify it. Ensure there are at least two opinions
with justifications in your writing.

e Write in pinyin rather than leave a blank space if you are unsure how to write a particular
character.
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Question 3

For this question, there are 6 marks for Conveying key messages and 6 marks for Application of
grammatical knowledge of language and structures. Given that the level of demand of the messages
was aimed at Grades 4 to 9, the question differentiated well with the vast majority of students able

to score some marks.

The passage was divided into 13 key messages, as in the table below.

Conveying key messages

| have a dog.

Well answered. Some pupils were not sure how to write the
character i correctly.

It is not only cute,

A bit mixed. Students were capable of writing the characters
A~H, however, there were occasions when some students
confused AME with {H/2.

but also friendly.

Well answered. Good vocabulary like /3 was seen. A
common error was A .

Every evening |

This was generally translated well. However, some students
wrote % instead of .

take my younger sister

Well answered. A few students confused #f with %H.

to the nearby park

Overall this was translated well, but some candiates found it
challenging as they were not sure how to write [ffi or 5%i.

to walk our dog.

Very few students knew the word i&%1; many were influenced
by English and attempted 7 &4, 40 or #i641 instead
of using the correct structure 1/ )& 2.

However, we did not go
yesterday

Good responses were seen. Careless errors occurred due to
using the pronoun ‘we’ instead of . Other typical errors

seen were fER/ WER and A% (7)) [BET.

because | was ill.

Students were confident with [524, but quite a few struggled
to express ‘| was ill. Errors included: %, 20 1, FAME

R, BEEAS

I am interested in pets.

Students found this very challenging; the majority struggled
with X}.. JB>% . A common attempt was: 15 YR A =

T

After graduating from university,

Word order “LLJ5” and the vocabulary item “EEMl” proved
difficult for many students.

| would like to work

This was very well translated.

in an animal hospital.

Answers were mixed. Errors were caused by lack of
knowledge of the vocabulary item zh#)1Z [t
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Application of grammatical knowledge of language and structures

Minor inaccuracies, for example in character writing, will not on their own prevent the award of a tick
for the key message, providing they do not lead to ambiguity. However, an accumulation of such
errors has an overall effect on accuracy, which could be reflected in the mark in this category.
Excessive use of pinyin also has a negative impact when awarding marks for Application of
grammatical knowledge of language and structure.

Advice to students

e Practise writing high frequency words and phrases, especially connectives.
o Check carefully that you do not accidentally miss out any parts of the translation.
e Always include the time frame particle |, or a future time expression where necessary.

o If you are not sure about how to write a character, write pinyin rather than leave a blank
space.
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Mark Ranges and Award of Grades

Grade boundaries and cumulative percentage grades are available on the Results Statistics
page of the AQA Website.
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